SRE R R SRER

WEAF] s SIREEANDTUY Y
i 2 &
ERBEIZOWT, BEWAER L. £7-, BROBSOREL E2KRETRLE,
1 8 O 5 8 »re67 (2) (~1-3Px -1
1 (1) 7—(~1)—5=7+1-5=3 9 3
(2) 8+(—3)~20—(—6) :(w4)zx%_%
=§—3—20+6=—9 L
(3) =9—(~16)—2+(—18)+27 =l6x g =
= —9-+16—2—18+27=14 6 3 13
A (_ 1\ [ 5\_4_ 1.5 9 9 9
<4)3+< 2> ( 6)“3 26
_4X2-1X3+5 2 X O 3t & »8 9
6 4 (1) (6a+3b—4c)+(a—2b—3c)
:%5:%:% =6a+3b—4c+a—2b—3c

3

(5) (=5)X3X(—8)=5x3x8=120
(6) (—3)x (=2 +6=(—3)X(—8) =6
=3X8+6=24+-6=4
7) (—3X4)=5X(—22X5)+(—3)
=(—12)+5X(~20)+~(~3)

1 1
—[12x = x20x = |=—
(12 5 20 3) 16

o (el

9 8 479
2.8 169 2X8X15X9
(9 5 4 4) 9X5X4x4 3

(1) 10—4x(—=3) =6
=10—{4x (—3) 6}

=10+(4><3><%>=10+2=12
o8
=73
:_(175><%>+("§“X2i
(1) 2% (=3)*—5% (—4?)

=2X9—5X(—16)+36
=18+80+36=134

=6+Da+(3-2)b+(—4—3)c
=Ta+b—Tc

2) 3(3a+2b)—2(3a+4b)
=9q+6b—6a—8b
=(9—6)a+(6—8)b=3a—2b

3) 5—x+3x%)—(x*—7—4x)
=5—x+3x>—x*+7+4x
=@B—Dx*+ (—1+)x+G+7)
=2x"+3x+12

4) (22)*+3(—4x+1)— (x*—Tx+10)
=4x*—12x+3—x*+7x—10
=41 x’+(—12+7)x+(3—10)

=3x"—5x—7
(5) 3x—y _yt+x_3Bx—y)—2(y+x)
2 3 6
_9x—3y—2y—2x
6
_Tx—3dy
6
(6) Zx;y——————“xggy—%(y—x)
:4(2x+y)—2(5x—3y)—3><3(y~x)
12
:8x+4yf10x+6y—9y+9x
12
=7x+y

12




2 —— BREEANDTUvY

3 3,,2
) 5xy3+(—2xy)2x8x3y2:_5_9‘i52§’;_¥_
4x%y
=10x"y’
2 L s 2;,1_ 272
(8 Gabxgab - 5ah

2 31,2

:6a2b><-é~a3b2>< azzbz _babxab Xz Z;(ZZIZJ)ZXZ
=4a’b

5 (1) (7A+3B)—3(A+2B)
=7TA+3B—3A—-6B=4A—3B
A=3x*—2x+6, B=2x"—3x+4
ERATDH &

4A—3B
:4(3x2—2x+6)—3(2x2v3x+4)
=12x%—8x-+24—6x"+9x—12
=6x’+x+12
(2) B—{2A—B—3(A—2B)}
=B—(2A—B—3A+6B)
=B—(—A+5B8)
=B+A—-5B=A—-4B
A=3x"—2x+6, B=2x*—3x+4
ERAT D E
A—4B

=(3x*—2x+6) —4(2x"—3x+4)
=3x>—2x+6—8x*+12x—16

=—5x*+10x—10
2 32 gtz 8 );(,1 )
6 (1)<3xy 4xy+9xy. 9xy
2 3.,2 2,.2 8 ) ( 9 )
=} — — —_— >< ———
(Bxy 4xy+9xy Dy

o R e R Sy
9 2xy
=—3x*y+18xy—4
) (a—b)(a®+ab+b%)
=a(a’*+ab+b)—bla*+ab+b")
=+ a?b+abi—a*b—ab*—b*=da’— b’

3 ARICEBER ».10 11
7 (1) (x+2)(x+8)=x+(2+8)x+2x8
=x+10x+16
(2) (x+4v) (x—2y)=x*+(4y—2y) x +4y X (—2y)
=x"+2xy—8y’
(3) (a+3)°=a’+2X3xa+3
=a’*+6a+9
(4) (2a+3b)"=(2a)*+2X3bx2a+(3b)"
=Aa*+12ab+9b?

(5) (x—4)'=x"—2X4X x+4*=x"—8x+16

+§xy><<#—9—>

6) (x+6)(x—6)=n>—6"=x"—36
(7) (x+3y) By—x)=By+x)By—x)
=(3y)*~x"
=9y?—x?=—x"+9y°
(8) (—da+0b)(6a+b)
=(b—4a)(b+6a)
=b2+(—4a+6a)b+(—4a)*6a
=p?+20b—24a’
=—2a’+2ab+ b
8 (1) (x+3°—(x+5)(x—1)
=(x2+6x+9)— (x*+4x—5)
=x2+6x+9—x"—4x+5=2x+14
2) (a+4b)(a—4b)—(a+2b)(a—8b)
=(a2—16b2)~(a2—6ab—16b2)
=a*—16b*—a?+6ab+160"=6ab
9 (1) x+2y=M &BLL&
(x+2v—2)(x+2y+4)
=(M~—2)(M+4)
=M*+2M—38
=(x+2y)*+2(x+2y)—8
=x +4xy+4y’+2x+4y—8
(2) a—3b=M &BL &
(a—3b+1)"
=(M+1)*
=M*+2M+1
=(a—3b)*+2(a—3b)+1
=a*—6ab+96’+2a—6b+1

4 W #H H W »12 13

10 (1) 6a°bc+12a°b*—9abc?
=3abac+4ab—3c?)
2) alx+y)—2(x+y)=(x+y)(a—2)
(3) x2—8x+7=x>+(—1-Tx+(=1) X (=7)
=(x—1)(x—T7)
(@) x2+3xy—18y*=x2+(—3y+6y)x+(—3y) X6y
=(x—3y) (x+6y)
(5) 22+ 18x+81=x2+2X9X x+9”

=(x+9)°
(6) 4a>—12ab+9b*=(2a)*—2x3b X 2a+ (3b)*
=(2a—3b)°

(7) 49x2—36=(7x)*—6=(Tx+6) (7Tx—6)

(8) abi—ab—42a=a(b*—b—42)
=ag{0*+(6—7)b+6x(—T7)}
=a(b+6)(b—T)

11 1) x—3=M &BLL
(x—3)"+5(x—3)—24
=M?*+5M—24
=(M—-3)(M+8)



={(x=3)=3}{(x—3)+8}
={x—6)(x+5)
2) a+tb—1=M &5 &
(a+b—1)+3(a+b—1)—4
=M*+3M—4
=(M—1){(M+4)
={{a+b—-1)~1}{(a+b—1)+4}
=(a+b—-2)(a+b+3)
12 (1) xy+2x—9y—18=x(v+2)—9(y+2)
=(x—9)(y+2)
(2) &®+6a+9—250*=(a*+6a+9)—25b°
=(a+3)*—(5b)
at+3=M B &
(a+3)°"—(58)"=M*—(5b)"
=(M+5b)(M—5b)
={(a+3)+5b}{(a+3)—5b}
=(a+5b+3)(a—5b+3)

5 FAHARDEHE »14 15
13 (1) /48 x/54+/8
=/42X 3%/ x6+/22x2
=4/3 x3/6 =2/ 2

= 4@%"/?: s x@%ﬁﬂs
(2) ¥75+4/15x4/125

=/5°x3+/15 X,/52 X5

=5/3 +/15x5/5

X X
=M:5x5x /%@:25/17=25

/15
() V8 =2 +/B=/Px2 /T +/Fx2
=2/2 /2 +3/2

=(2—1+3)/2 =4/ 2
(4) ¥/27-3/8 +/50—y12
=/3X3—3/22x2+/5°x2—/2"x3
=3/3 —3x2/2 +5/2 —2/3
=3/3 —6/2 +5/2 —2/3
=(3-2)Y3 +(—6+5)y2 =/3 —/2
(5) (/5 +2)"=(5 Y’+2x2xy5 +2?
=5+4/5 +4=9+4/5
(6) (3—2/3 V'=3"—-2%x2/3 x3+(2/3 )

=9—12/3 +4%3
=9—12/3 +12
=21-12/3
(7 J11+V6 )11 -V6 ) =(11)’'—= (/6 )°
=11-6=5

® V7T+2(7 -3

®mE & —3
7)Y+ 0@=-3)/T7 +2x(-3)

Il

=7—/7 —6=1—y17
0 _ 9x/3__9/3 _
140 = =y =3/3

(2) /45 =y/3x5=3/5,
20 20%y/5 _Zoﬁzug

J5 J5xy5 5
Lic3->T
JEJF%:BEHJ?:(H@/?:N?
@ [2-Y3 _d3x/2_J6
2 J2 JaxJ2 o o2
27 _21x/6 _21/6 _ 96
V6 /6 x/6 6 2
L7z >T
3 27 _J6 976 /(1 9
N i R P

—— /6 —-4/F

15 (1) 4/3 =448, 5/2 =50, 7=449
18<49<50 THHNH 48 <449 </50
LihioT 4/3 <7<5/2

(2) 4/6 =496, 3/10=490, 2/23=/92
90<92<96 THDPH /90 <4/92<,/96
LE#-T 3/10<2/23<4/6
ko7 446 <—2/23<-3/10

6 HKOGEONA ».16 17
16 (1) 3(x+3v)—72x—y)=3x+9y—1dx+7y
=—1lx+16y

x==3, y=3 ERATHE

1lx+16y=—11X (—3)+16><%

=33+8=41
2) *+y° = (x—y)'=2"+y* = (x"—2xy+y?)
=xt+y =P 2xy—yi=2xy

x==3, y= ERATHE

2xy=2%X(—3) X—é—z—?)

17 (1) 97=(100—3)*=100*—2 X 3x 100+ 32
=10000—600+9=9409
(2) 272—232=(27+23) X (27—23)
=50 X 4=200
18 A, B%h 6 THl»/-&XDOHWEENFNa, b
ETHE, BVBENREFNRL, 5THENH
A=6a+2,  B=6b+5



4 —— EREEANDTUvI
(1) A+3B=(6a+2)+3(60+5)
=6a+18b+17
=6(a+3b6+2)+5
a, bIZBREYD a+3b+2 LERELS,
£oT, A+3B 26 T/ ZDRDIET 5
(2) AB=(6a+2)(6b+5)
=36ab+30a+120+10
=6(6ab+5a+2b+1)+4
a, bIIBHEY 6ab+5a+26+1 HEH L
%o
£oT, AB %26 TEH»72EDORNIT 4

19 (1) x*+v*=(x*+2xy+y°) —2xy
=(x+y)*—2xv
=42—2% (—10)
=16+20=36

(2) #*y+xy’=xy(x®+y7)
22T, ()hs x*+y =36
LT xy(xi+y%)

= (—10) X 36=—360

20 =76 THD 2 ODBEEEE &2 >Tn,
n+6 £TBHE, F02EOEE
(n+6)—n’=(n"+12n+36) —n’
=12n+36=12(n+3)
n+3 BEKTHED DS, TOEIL12OHBKTH
%

7 1 XA RBEER 18 19

21 (1) 5x+12=—8

BEHITSE  5S5x=—8-12
BT HE  5x=—20
FoT x=—4

(2) 2x—5=9x—19
BIHT5E  2x—9x=—19+5
BHTHE —7x=—14
K2T x=2

(3) x+2(x—9)=3(8—x)
BT HE 3x—18=24—3x
WIET & 3x+3x=24+18
S 6x=142
Ko T x=7

@ gx—2=——
Mz 124555 4x—24=-21
BIHT & dx=—21+24
g 5 & 4x=3
T x=i

1

x—1 x—4 .
e R
% 1529 5E& 5(x—1)—3(x—4)=15

5x—5—3x+12=15

BT 5L 2x+7=15
BIET % & 2x=15—7
Mg 5 & 2x=8
02T x=4

6) 0.3(x—7)=2x+1.3
W% 104ET5E 3(x—7)=20x+13
3x—21=20x+13

BIET L& 3x—20x=134+21
BIg 5 & —17x=34
£2T x=—2

22 %ax+%=—§—a~2x I x=2 2RRATH &

a+i=41~a—4

3 3
Wil% 35T HE 3atd=a—12
B 5 & 2a=—16
0T a=—8

23 KO OLFRETOEOD % xm &T B,
COEE, HESOm TTL & %6} 533 200

X

m Tfr< & 500

TN %,

X _ %
£oT 80_200+15

W% 40053 %5 & 5x=2x+6000
IG5 & 3x=6000

Lizhs-T x=2000
CHIZRTEICE L T b, .
&oT, RPSERETOENYIF 2000 m

8 @iy H IR p2 21

Sxty=4 oo @

240 {7 0 g ETR
@ 3x+y=4
@ +) x—y=—12

1 =-8

EoT x=—2
x=—2 2 DIRATHE —2—y=—12
BIET 5 & —y=—12+2
g 5 - —y=—10
THEDD y=10
L7zhoT x==2, y=10



B E R —5

[y=5x—2 ------ D Y4z INSEMEICEL TW A,
dx—=3y=-5 -eer @ ‘ L7=d5-> T, 500 HEEED 8§41, 100 HIEEH 9
DEQIZKRATBE 4x—3(x—2)=—5 WH 5.
4x—15x+6=—5 lax+2by=16
=3, y=—2 RIS
BT 5 —1llx=—11 26 x Y TR {bxﬁ y=a
o7 x=1 o 3a—4b=16 -+ 0]
x=1%DQIIRATBE y=5x1-2 KRATZ L {31)-9-2 =g e @
Tbb y=3 @& DIRAT S E 3(3b+2)—4b6=16
Lizp->7T  x=1, y=3 9p+6—4b=16
2x—y=T e ® BT A& 56+6=16
3 EF B,
) [x+6y:—3 ----- @ v BIET 2 & 56=10
O] 2x— y=7 ko b=2
@OX2 =) 2x+12y=—6 b=2 #QIIRATHE 3X2+2=q
—~13y=13 Tbb a=6+2=8
£2T y=-1 L7z -T a=8, b=2

y=—12QIKATHE
x+6x(~1)=-3

x6=—d 9 2 XK AH R »22 23

=—3+
Efiit N 336 27 (1) x*—8x+15—0
o
A SR RS 5 (x—3)(x—5)=0
LiA->T x=3, y=-—1 .
By e @ L7eh>T x=3, 5
o g o gy ET (2) x*~7x—8=0
rey SR EART 55 (xt+1) (x—8)=0
Ox3 6x+15y==6 N
O3 ~ LiztsoT x=—1, 8
=)bxt dy=-16 (3) x>+ 14x+49=0
Uy=22 FNEREAET 5 (x+7)2=0
£-27T y=2 N
=2 % DIRATEE LAt o x=-T
g ye+Bx 23 @) (x+8)~7=0
* B BETHE  (x+8)=7
2x+10=2

0T x+8==+/7

LizWo>T x=—8x/7
(5) (x—1)"~25=0

BETHE (x—1)°=25

BIET D& 2x=2—10
BEMT L 2x=—38
ERAS9R5 x=—4
L7=dH>T x=—4, y=2

o7 x—1=%5
BIHT A& x=1%£5
25 500 MW EA x4, 100 BEEN yKHH &9 L7=H»>T x=—4, 6
Bo (6) (x+1)(x—3)=5
e {Meliie x+y=17 e ) iz RRT 5 & x*—2x—3=5
GEEEICOVT  500x+100y=4900 - @ GHEBIET S & x%—2x—8=0
@ OWA%E 100 THBHE Sx+y=49 oo ©) ENERBGHTHE (x+2)(x—4)=0
©) 5x+y=49 Liehs»T x=-2, 4
© =) xty=17 (7) x°+x—1=0
dx =32 BORRIZED
£oT x=38 =1/ =4xIx (=1 —1%/5
x=8 # DICRATZE 8+y=17 = Ix1 T2
BIETH & y=17—8 (8) 3x*—8x+2=0

ERA )5 y=9 BORKITEY



6 —— BREEFEADTUvY

o —(—8) £/ (—8)*—4x3x2

2X3
_8+/40 _ 8-22/10 _ 4%/10
6 6 3
28 »*+3(a—2)x+5a—7=0 12 x=—3 #AAT
BHE
(=3 +3(a—2) X (—3)+ba—7=0
T 9—9a+18+5a—7=0
Fhbb  —4a+20=0
Lizi3-T a=>5

Tokx, o2 RAERIE x*+H9x+18=0
EAEEESET & (x+3)(x+6)=0
L7zAi» T x==3, —6
LT, fofEE —6
29 EFEO1UOES®2xem &T5&, £ 1
HOEXIE (40—x) cm
ZOEHEOERED 300 cm® THLHDH
x(40—2x)=300
ENEREMLUTEET S &
x2—40x+300=0
KA RENRTHE (0—10)(x—30)=0
L7zA->T x=10, 30
0<x<40 THAHPH, IhHEHEICHELTY
Do
1HOESHAmEE, £ 1HOESIE
30cm THY, 1AOESH N cm D EE, 5
1OESIZ0em TH S,
£, EFFEO2UOESIE 10cem, 30cm

10 1 X B &
30 () ffixiE 2. TR 1
iz, VI T7TREROEDICE B,

() fEx —%, PR —2

F7z, VIT7EEOES IS

h.24, 25

_2\
T L
31 VI 7DBEEN -4 THAHEPH, KODH 1R
Bt yv=—4dx+b EWHETREI NS,
F7, x=5 DEE y=—9 THLHH

—9=—4X5+b
—9=—20+1

Tabb

EoT p=11"
Li=h» T, kHd 1 RBEE
y=—4x+11
32 EROME I 4—‘}(:%=;;§=—3
ko7, kO EHRORIT y=—3x+b £XT
ZENTED,
x=—1, y=8 22 ORIZRAT S &
§=—3X(~1)+b
b=5
koT, ko EMORIE
y==-3x+5
33 v=—2x+4 IZBVT, N
x=—3 £THE K“’
y=—2x(—3)+4 |

LT y=10 —— ? -
x=h &§5H& N
y=—2%5+4 O
£oT y=-—06
LishoT, yOEBIE  —6=y<10

11 Bd% v=ax® »p.26, 27

34 (1) yiEx D2 RIHHTZNE, y=ax® &F
TIENTED,
x=3 D&EE y=271 THIHNP5H

27=ax3
Thbt  27=9%
Lizh>T a=3
£oT y=3x*
(2) y=3x2 12 x=—4 2 RAT 2 &
y=3X(—4) ‘

FoT y=48

35 (1) (2)

36 y OEE» S

a>0
TSING, x OB
—4Ex=3 DEE, v D
TRl 0=y=24 &% 5
5 b=0
T, yv=ax® DTS THE (4, 24) @SN
)




24=ax(—4)*
2T 16a=24
24 3
7 =L 2
Ihbb ==
R 3
L7z->T a=5, b=0
37 (1) 7o 7ME B, —16) Z@AH5
—16=ax8 Thabbd 6da=—16
LiehSsT  a=——t
4
(2) x=—4 D&%
y=ag X (—4)*=16a
x=2 QL&
y=aXx2’=4a

L2, BLoBE
(y oiighnig)  da—16a _ —12a _
(x oE) 2—(-4) 6
ZILDEEE —6 THHNH
—2a=—56
LizAisT  a=3

—2a

12 X, 7—5Y0O;EH »p.28 29

38 NEEIEREE
11O O O
2
310 O O
4 A
5|0 |o] [Paa
6 VAN WWANNIVAN

() HOBPERE 2 HDIE, KOH, DhOHD
EHILHEBOEETH S,
L7z>7T, #BTO%DIL 98D,
£-oT, 98D,

2) Kh2o2DEWZA0EOHFIELET

6xX6=36 (GEYL)

HoMA 10l L& b0k, BTozxd07k
6580

koT, RODWERIE —=—

36 6
39 BHOEENE
IXT+2X24+3X2+4X24+5%3
+6X5+7X4+8%x1=100
1
Lo, Pl é§=50®
BEONSVEICEREE, 10 BEHOAIZS &
11 FEOANE 6 HTH B,

mE & —7

5+6

J:ﬁf, EP%{[ELE}: 725.5 (/ﬁ)

F/, BEMEEZ 6=
40 3 20REMEICA, B, C&T 5,
FoMOHLEE, REOHEBIZROESICK S,
A B c & A B c &t

L. 3 F 2
ﬁ:<a,f\<|§1 218 EI<§%<E 1@
TN K 2H Z Y

< im b om
ZOMED, TRTOBOHBLAIZEED,

RENF2MEM EHSHEOHBLITIL 48,

o7, ROBERI %:%

41 F 1A%, 52 W, & 3 Mo
JEiz
A 25, 3.5, 5
B 1, 2.5, 4.5
B, £oT, HOTHRBROLD IR S,

' ‘ ' [ ' ' ' ¢
l '

jE_
L

WD
BII—T

13 =AKOSRIEMEEL ».30 31
42 AABC=AK]JL
HRZN - 1 B0IEFOHMROADZTNENE
) UL '
(BC=JL, £ABC=<«K]JL,
ZKLJ=180"—(30°+105")=45°= 2 ACB)
AABC»AK]JL
ML 2 OAENZENZENELL,
(£ABC=2zK]JL, £ZACB=«KL])
ADEF» AHIG
RIS © SHDDDEDTRTHLL,
(DE : HI=4:8=1:2
EF 1 1G=2:4=1:2
FD:GH=3:6=1:2)
43 (1) DE/BC T 555
AD : AB=AE : AC
Tixbhs 3:12=x:8
0T 12x=24
L7zP>T x=2



22823A

(2) DE/BC TH5h5
AD 1 AB=DE : BC
bbb 4:12=5!x%
ko7 4x=60
L7z3->T x=15
44 AABE & ADCEIZBWT
ﬂiﬁ#g AE=DE - @
HEAEZZELVPD
ZAEB=£DEC - @
AB#/CD &0, #AFELVLYS
£ZBAE=ZCDE - ©;
O, @, @&y, LHDOBEEZOEHEDANZ 1
FNELLDS AABE=ADCE
k0T AB=CD

14 FHODEEM ».32 33
45 (1) #5 EF & GH DA% P &9 5%,
A ABFE X FETIEIETH L2 6
BF=AE=7 (cm)
7z, PUAE PFCH ERTNAETH 205
FC=PH=4 (cm)
£oT BC=BF+FC=7+4=11 (cm)
L7e->7T x=11
X512, P GBCH B FATIEKTH 55 5
2BGH= £BCH=110°
y°=180°— 2 BGH
=180°—110°=70°
Lz >2T »=70
(2) ZADB 13 AB ic#id aMEATH Y,
ZACB & AB IC T 2MEATH B2 5
x°= £ ACB=50°
2T x=50
¥7: «CEDIZ, ABDEOEIZBIAHNAT
HBPH
y°= 2 BDE+ « DBE=50°+35°=85°
EoT y=85
46 (1) £BOC=360°—300°=60°
2x 3 BCICHT MARTHZPS
1
2
(2) AB#/CD &9, #AEZELLYS
ZABC= 2BCD=43°
2BAC Z, ¥HoilicxdA2HBEAETH 5 H
5

2T

Lx= 4BOC=*§—X60°=30°

£BAC=90"
AABCIZBWT

2 x=180°—(2BAC+ £ABC)
=180°—(90°+43°)
=180°—133°=47°

47 25 A, DREHBCIZOLTRUHENIZH S,
%7 £BAC=2BDC=57"
o7, MAAOEHOMIZEY, 45 A, B,
C, DIF1>OMEEICH 5.
£x 3 AB T AMEATH LD 5
Lx=/ACB=42°
AABDIZBWT  (57°+ £y)+30°+42°=180°

£0T Zy=51°
15 =FAHOxH, @l - Ha
.34, 35
48 (1) BAZAE ACDIZBWVWT, 2 HOEH
MY x2+8°=10°
£oT x*=36
TEDS x=6

%7:, BC=BD+DC=4+8=12 (cm) &
ZAE ABC OEEIX

%x12x6:36 (em?)

(2) ROEHEIE5ecm THAHDH
EERIE 47 xX5*=1007 (cm’)

gy 4rxs=22 0 (em?)

3 3
49 HEE %285 TROHLAT ¢ T 5,
BHYEROMOESE, EMOMHEORSIZFEL

WAS 2T X2UX =27 X 10

360
INEMBHNT a=150
%ﬁﬁli, R S KEROMTH L2 5.

7T><242><%+7r><102=2407r+1007r

=340z (cm®)

50 P ORI
%X(HXSZ)XIZZZ.E—)G?T (em®)

PEQREHEMTHY, FOMEIEIE 4:3
&-T, P QoBEOLIX
431 3P=64127
L7=MHoT, P& ADOEEOHIE
64 1 (64—27)=64: 37
EoT, ADEEE Vem® &35 &
2567 1 V=64 : 37

Thbhd V=2056mrX 2—Z=1487t (em?)

220703



